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Direction (Q. Nos. 1-5) : Study _the
following information to answer the given

questions :

(a) Eight persons E, F, G, H, I, J, Kand
L are seated around a square table-
two on each side.

(b) There are three lady members and
they are not seated next to each
other.

(c) J is between L and F.

(d) G is between I and F.

(e) H, a lady member, is second to the
left of J.

() F, a male member, is seated
opposite to E, a lady member.

(g) There is a lady member between F
and L

1. How many people are seated
between K and F?

(A) One
(B) Two
(C) Three

(D) Cannot be determined

2. Who among the following are the
three lady members?

(A) E; H and J
(B) E,Gand J

(C) G, Hand J

(D) H, Eand G

SeqaR! (g4 d°@ul 1-5) : 79 o7 gL
@0 999 aaq Gug|

(@ 92 9@ ¢ ¥} 66T 6QAQ 69N
QIQUES E, F, G, H, I, J, K 8 L UIOGE
Q4@ *deal '

(b) 6Q0I6Q G& @€ FERI ALY 8BT IQ°
6Q7ER 662 FITl QIR FTRIRIZI

(c) L99° F QR6q J @33
(d) 199° FAR6Q G Q4RI

(e) H 62@8 R64 AZRI Q9dil, 64 J
QIAITES @010 JIRca |az|

() F 6208 @66 Q8 22y, 69 AL
T geQyl E Q {9916 @96 48|

() F G I916Q K66l A2l 99yl @4z

1. K9° F F1RIEQ 626094 @388 ?
(A) 99
(B) 4.
(C) &&
(D) S18Ql AAQ §6L

2. ARG FRIER CaasIce 68 afel
QeQYl ? ‘ :

(A) E, HNG*J

(B) E, G&°J

(C) G HIJ

(D) H, B G
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[ 3. Which of the following is true about
J?

8. J QUR6Q 6060 qgy?

(A) Jis a male member (A) J 6298 968 g Aaqy

(B) Jis a female member (B) J 62QE 264 AR A9yl
(C) Gender of g cannot be

MEr QIS AAQ g6E
determined (C) J Q mef QIEiQl A8 Q

(D) Position of J cannot be

: (D) J @ @dQI gIe Q189 aae ge%
determined :
4. Who among the following is seated 4. FIRE FRIGA T ENG° H (2160 937 7
between E and H? !
, . (A) I
(4) I - - E
' (B) J
B) J |
: ‘ C) F
) F. o
(D) K
(D) K
5. Who among the following is to the 5. FQ 99l Qinaiden 89 958
immediate left of F? ,
(A) G
(A) G
B) J
(B) J (B) J
() I (C) I
(D) K (D) K
. /151-B
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i following clearly
hich of the :
° giﬁ;es the function of mass media?

(A) Providing information

(B) Work as a responsible resource
(C) Providing a political forum

(D) All of the above

7. T, S and R are three brothers. T's
son Q is married to K and they have
one child Rahul blessed to them. M
the son of S, is married to H and
this couple is blessed with a
daughter Madhvi. R has a daughter
N who is married to P. This couple
has one daughter Karuna born to
them. How is Madhvi related to S?

(A) Daughter
(B) Niece
(C) Granddaughter

(D) None of the above

8. A postman was returning to the post
office which was in front of him to
the North. When the post office was
100 m away from him, he turned to
the left and walked 50 m to deliver
the last letter at CGO complex and
moved another 50 m to meet his

North and walked 100 m. How far
is he from the post office?

(A) 150 m
(B) 100 m
(C) 50 m

(D) 75 m

friend. Then he turned towards -

6. PEFIQ FAQ 6RAT QELAIRIAR JRdy
QUER AF ORI @47

(A) 9991 QIR
(B) @@Q9d Qe 916! AILIREQ
(C) QURCHLR 6TIRE 6IFNR2N

(D) ag6alg’ arlg

7. T, SQ° R 62282 00 @l TQ QA Q
Q912 @98 K g ¥e° 627IeF 6915
dml QIgRI SQ Q8 M, H § Q912 @58
q9° 2 QHERQ B2 6208 ARSI RQ
Q2 N, A4 P g I912 @R8I 1@ enewq| |
6T B2 @Q4lIl ARIST S @ ANREQ| |
@4 6297 |

(A) Qa4
(B) S28/18F
(C) aERIQaN

(D) 92Q 6R16dT Q6w

8. P64 QYR 69IYATAG 6TQ AN
6QIRATY G AYH NGEA QAR TA6R
2Qge gmll 6QIYAT IR 100 m R
gQIERER 6Q QIAASY 6FITRI IS 681
30 CGO complex 69 699IIS 50 m
QIR g8 G AIFY 6RTR! AR AL
50 m GIRRI GI'IER 6 ARA R 62IR

100 m QIRAI| 64 AFAF AHQ U6Q
660 GAER AR?

(A) 150 m
(B) 100 m
(C) 50 m
(D) 75 m
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10.

11'

Three individuals have to be
selected from a group of 6 people.
How many different combinations
are possible?

(A) 120
(B) 60

(C) 20 '

(D) 10

John needs to choose between two
job offers. Offer A has higher salary
but is located in a city with a high
cost of living. Offer B has a lower
salary but is situated in a town with
a lower cost of living. Which job
offer should John choose?

(A) Offer A
(B) Offer B
(C) None

(D) Cannot be determined

Arrange these \&brds in alphabetical
order and choose the one that
comes last :

(i) Abandon

(ii) Actuate

(iii) Accumuiate

(iv) Acquit

(v) Achieve

(A) Actuate

(B) Accumulate

(C) Acquit

(D) Achieve

g‘

10.

(A) AT A

11.

641N 6 8121 g9 OF 8¢ 943 oaq
QARG 6291 AR FRIER Q60T Ga
@8 @@ (combination) AAL 6217

(A) 120
(B) 60
(C) 20
(D) 10
Q@8 @Q aXQ (job offers) UG KQY)
(John) 69115 QIEAIQ AR aATR A Q
2R QAfll, FIg 921 YR e AT
ALAER 2A9gel AT B @ @¢ Q@Qfll,
AIg 99l 99 Q¢ A ACUY ALRER

2159%1 @R (John) 694 @< UTAEG AR
*Qe?

(B) aq B

(.C) 691638 g6
(D) 9I8QI AR Q6L
ZYARA6Q (A°AURT) ARgF ARIG IS°
ARCHTER AIQAR! GI8G R8RS |9
(i) Abandon l

(ii) Actu-ate

(i)
{iv) Acquit

Accumulate

(v) Achieve
(A) Actuate

(B) Accumulate

(C) Acquit

(D) Achieve

/151-B
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12. Three of the following four words

13.

14.

are alike in a certain way and one
is different. Pick the odd one out.

(A) Hendecagon
(B) Hexagon
(C) Heptagon

(D) Pentagon

Manish is going on a vacation and
needs to book a hotel. He shortlists
3 hotels and is now comparing them
on the basis of cost, facilities
available and proximity to tourist
sites. Which step of decision’
making is Manish performing?

(A) Genérating the alternatives
(B) Defining the selection criteria
(C) Evaluating the alternatives

(D) Reviewing the decision

In the year 1780, who had started
the first printed newspaper named
as Bengal Gazette, in India?

(A) Annie Besant
(B) James Augustus Hicky
(C) Richard Stafford Cripps

(D) AO Hume

12.

13.

14.

(A) @99 Qlgal

= -~
e gaa eleals aa (eeaue) F12IQ 36eR)
6208 Y@ geaal Gin 9o 9w6 QIRg

(A) Hendecagon
(B) Hexagon
(C) Heptagon

(D) Pentagon

aGe g6 QIERIg QI2IGE 99”64 eQIeom|.
q@ @8Ql 6Q G6RIT 62I6TM QZ|
6A9Eaq MY, AANE g@al geQial \9e®||
gragiea Aasee 2949 QoYI@ 2Iq|.
s Qeql 9nll AFE 6@4 A96RQ)
26D B RIFY AR AAR?

(B) 62I6TR SUF KAQIQ QIS
(C) 992 gMILe KQQl

(D) A9QQ A1V A

1780 A1A2I6Q, QUAGER @4 gaa (K0
deQ RI9F el CRRIR 696RS (Bengal
Gazette) 891 IR QQA26M?

(A) SHQ1 6QQIS

(B) 69¢Q 29YA T6q

©) 8916 FITems aaq

(D) 4B @yYf

/151-B




"15. Identify the figure that completes
the pattern :

?
(X)

(i) _ (i) :
(i) 1 o v

(A) @)

(B) (i)

(C) (i)

(D) (iv)

16. Which behavior is import?.nt_for
effective listening in a
communication exchange?

(A) Interrupting frequently to
clarify points

(B) Maintaining consistent eye
contact

(C) Taking detailed notes during
the conversation

(D) Nodding frequently to show

16. TRYQ §99 CAIGICIT FBAACT 6QS

15. 9990Q 999 9@ A°A9RIgFQ 904 o |'

?
)

1] (i)
(iii) (iv)
A) ()
(B) (il
(C) (i)
(1 3) (iv)

21098 2ANS g ?

(A) 91994Qd FRAQE] I *ERIAIS
QIRAIR UALIDRC| AFRAS!

(B) 99 6QINI6AITR FaoIq AFd QYS!

(C) @62IAQA} AAAER gy Tg&!
9ge @dq

(D) QERIFI QSRR AR FIQAUR ARG
999 Q3!

agreement

/151-B
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17. Statement : The vehicular traffic

18.

has increased so much in the
recent past that it takes at least
two hours to travel between the city
and the airport during peak hours.

Course of action :

I. Non-airport bound vehicles
should not be allowed to ply on

the road connecting the city
and the airport.

II. The load of vehicular traffic
should be diverted through

various link roads during peak
hours.

IIl. The departure and arrival of
flights should be regulated so
as to avoid congestion during
peak hours.

(A) ‘None follows

(B) Only I follows

(C) Only II and III follow

(D) Only I and III follow

Direction: In each question
below is given a statement followed
by two assumptions numbered I and
II. Consider the statement and
decide which of the given
assumptions is implicit.

Statement : A statement in the
call letter given to candidates of the
written examination states — “you
have to bear the travel expenses for
attending the written examination”

Assumption I : If not clarified all
the = candidates may claim
reimbursement. ,
Assumption II : Many organizations
reimburse the expenses on travel
to the candidates appearing for
written examination.
(A) Only Assumption I is implicit
(B) Only Assumption II is implicit
(C) Either Assumption I or
Assumption II is implicit

(D) Both Assumption I
Assumption II are implicit

and

17. @ : 96Q JIFQIZIR Q PRITR 6L Qe

18.

Q8 QI8 JIRIYA GLh IAUEA AR
q IIA6QIcE D91 @R A9l AT IR

JaQa RIS :

I <9IR6QIgq ARSI qIgalge
Q2R Ye° YAIR6dIS QUGISR QA
Qa1del agee|

I 2RI9IP YIRIILFY TR ALIAE!
Q@@ o@ Qg (link road) 6Q diver
AL AC| ‘

1L QIgIEa ¢ 2RI IR
2I99R 6 ggIR @ FARS K9S| QO¢

(A) 65163 QIdiqn ageigs

(B) 69eR I g9y

(C) 69eR II4e° III g9gay

(D) 699% I 48° III gLY

G606l : FORYC YIS gEea €alT
Q@ U8 9e° QAT dIQEll (assumptio:
1 9Q° II QuUIKIRE] @88 a9g 9s
FUIAINYL! UG 62QT aAg e
(implicit) I9IQ Q@G|

QS : 9ON12l1g FYe ANTIER QAR
64T 2L} AG (call letter) ERMUIZ

“REe ANFI 6LRAIR AT TGS
QLR FTQIG 9GS~

AIQEN I : 99 921 IQ AQ | AN, B8
QFg aRgIe 99U QI 98 QIed|

ARG II : 2R A°Ql AYe am
QNI OgSS Qe eaald| .

(A) 69 UKW I 2AQ6aa
(B) 699% MQEI II 2g6aq

(C) QU I Gl MIQQ 1T 2Ag6e10
(D) ¥IQE T 6 AQEN TI 2196e1g,
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19. What does the SOLER mode] in
communication stand for?

'(A) Sincere, Open, Listenin

g, Eye
contact, Relaxed

(B) Sit squarely, O
Lean towards th
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

Pén posture,
¢ speaker, Eye

(D) Synchronized, Open, Listening,
Eye contact, Reassured

Direction (Q. Nos. 20-24) : In the
following figure, rectangle, square, circle
and triangle represent the regions of
wheat, gram, maize and rice cultivation

respectively. Based on the figure, answer
the following q‘uestions_ :

maize and nothing else?
(A) 9
(B) 8
(C) 2
(D) 7

21. Which area is cultivated by all four

19. 6419161569 SOLER I8l (model)

AR 9Q° IR QIF6FQY QY K6 9T F8]

20. Which area is cultivated by rice and

6RUL el QYGFE 7

(A). Sincere, Open, Listening, Eye
contact, Relaxed

(B) Sit squarely, Open posture,
Lean towards the speaker, Eye
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

(D) Synchronized, Open, Listening,
Eye contact, Reassured

FeaRIAN (GIRT 20-24) : FARYC TG,
210067Q, 968G, 9R 6 §9F; 927, SR,

ARIGFA FINYE g9a aaa YA

20. 624 69GER AUIR IQ° ARI QI g9 IQ°
T UNEE Q19 94 Qa7

(8) 9

(B) 8~

(C) 2

(D) 7

21. 629 69Q6Q 1@ IATAIR TAR OIS

commodities? Q9 ?
(A) 8 (A) 8
(B) 7 (B) 7
() 9 (C) 9
(D) 2
(D) 2
/151-B
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22.

23.

24.

25.

26.

Which area is cultivated by wheat
and maize only?

(A) 8

(B) 6
(C) 5
(D) 4
Which area is cultivated by rice
only?

(A) S

(B) 1

(C) 2

(D) 11

Which area is cultivated by maiz¢
only?

(A) 10

(B) 2

(C) 3

(D) 4

Which of the following is not a

database object in MS Access?
(A) Reports

(B) Tables

(C) Relationships

(D) Queries

Which one following

of fhe

represents the binary equivalent of

the decimal number 237
(A) 01011
(B) 10111
(C) 10011

(D) None of the above

22.

24.

25.

23.

26.

cag 6Hgea 6a9T qaql e €19l oy

247
(A) 8
(B) 6
(C) S
(D) 4

609 esagéa caen die 918 997

(A) S
(B) 1
(C) 2

(D) 11

cae 6HG6a 6aaR ARl I 297
(A) 10

(B) 2
. (©) 3
(D) 4
MS Access €@ @6qIg €IQ 629
695 database object QEL?
- (A) @ealga

(B) 689RQ
(C) Gemardqg
(D) RI9K (Queries)

QAR AUQ 62QT 60TAIR aaq 23 @
QIREAQ AQNIERNIA YBTNG Q6q ?
(A) 01011 | |
(B) 10111

(C) 10011

(D) \&Iq 696G ges

/I181.R
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28.

27. In

29.

(D) Organizing entertainment to lift
l\peoplﬁ’s spirits

/151.B

In which year was Educational Tv
first introduced in India?

(A) 1961
(B) 1959
(C) 1971

(D) 1968

Which is the largest storage unit
among the following?

(A) Terabyte
(B) Megabyte
(C) Kilobyte

(D) Gigabyte

An area is affected by severe
flooding. You, as
Magistrate, have limited resources.
Which of the following should be
your immediate priority?

(A) Repairing roads
(B) Distributing food and water

(C) Rebuilding houses

a District

27. 62Q A32160 AIAGEA FAIYRR QRAIR
(Educational TV) Q% 62IR2ImI ?

28.

29,

(D) 1968

(B) 6A9IRIAG (Megabyte)

(C) RERUARG (Kilobyt.e)

6990 2I0ERa 986 glAtias cee?

(A) 1961
(B) 1959 |

(C) 1971

569lg FUEQ R0 MICEY 6RICAR
(largest storage) 286G 7

(A) 69NN (Terabyte)

(D) §9IQIRE (Gigabyte)

YEETR Q@Y QA 64T 2SR galee
62IRT| V68 BRI AITEYS QUK AT
digiea QIfie AN QARG 9gee aag

(A) AOR AQUAT
(B) HIQY G Q18 Q4
(C) 92 ga8 Qg

(D) SRS A6RIRIe 9deae a9
AERIFRY QAR FLIFA UKD

11
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consecutive years 2000 and 2001.

120 - ©
100 4~
90 -
80 -
70 -
60 -
50+
40 -8
308
2084 B -
10 1+

0 1 B .
B1 B2 B3 B4 B5 B6
Branches ME2000 82001

105

Sales (in thousand numbers)

30. What percent of the average sales
of branches B1, B2 and B3 in 2001
is the average sales of branches B1,
B3 and B6 in 2000?

(A) 75%
(B) 775%
(C) 82:5%

(D) 87-5%

31. What is the average sales of all the
branches (in thousand numbers) for

the year 2000?

Sales (in thousand numbers)

120 =)
Low)

[ Y

Direction (Q. Nos. 30-34) : The bar graph | &gaaQl (g4 9°$141 30-34) : 2000 Ig° 200,
given below shows the sales of books (in | qdgieq 6a16d Y@ gRIge A°¢IR aa 6o 63
thousand numbers) from six branches Bl SI%l B1 § B6 68 aq0 62029l 929 (100q
to B6 of a publishing company during two ‘21°%1‘19)9161 g&r (bar graph) 69 @élﬂlaﬁl

o
105

Z

Bl B2 B3 B4 B5 B6
Branches W2000 %2001

30. 2000 Q€68 414l B1, B3 4e° B6 8896

212G 2001 9F6Q GIgl B1, B2 &'
B3 QQaQ 6260 G916 ?

(A) 75%
(B) 77-5%
(C) 82:5%

(D) 87:5%

31. 2000 @9QIQ Qag disia (100(

Q°HYI6R) LIAIR TRA 69667

(A) 73 A
—_— (B) 80
(C) 83 (C) 83
(D) 88 D& e

/151-B 12



33.

; ma] sales of brancheg B1, B3 and

34.

B5 together for both the
thousand numbers) are

years (in
(A) 250
(B) 310

(C) 435

(D) 560

What is the ratio of the total sales
of branch B2 for both years to the
total sales of branch B4 for both
years?

(A) 2:3
(B) 3:5
(C) 4:5°

(D) 7:9

Total sales of branch B6 for both
the years are what percent of the
total sales of branch B3 for both the

years?

(A) 68:54% (A) 68-54%
(B) 71-11% (B) 71-11%
(C) 73-17% (C) 73:17%
(D) 75-55% (D) 75:55%

32.

33.

34.

| aS6ge Gqa SIdl B4 6Q Q@9 9U6Q

- (B) 3:5

ISl B1, B3 \9° B5 2@ 65Q AL
329 gAY Q@9 edaIR 6866 (1000
Q@) 6LAREMI?

(A) 250

(B) 310

(C) 435

(D) 560

6060 2QdIe AREFIG YIe 899 dIs
B2 6a Q@9 9962 62IQaAM QI

6RIRERII

(A) 2 :‘3 |

(C) 4:5

(D) 7:9

QA QT6Q IS B6 AGELIS @ge SIdl
B3 69 AF6LS FRUQ 6960 9867

e ———

 /151-B
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35. The sum of the digits of a two-digit 35. 9n g% @44 AHIQ ANF 9, AT 816?@
ber is 9. If th ber formed & "
number is 9. e number fo ° ° f
4101Q 9/ Q9
by reversing the digits is 9 less than BREIA 906 e i I8 @' “ :
the original number, what is the 606Q ¢ K°ClYl €@6Q 7
original number?
(A) 27
(A) 27
(B) 45
(B) 45
' (C) 63
(C) 63
v D) 92q 6e3T 6¢
(D) None of the above ( ) A« 4 '
36. A man spends 30% of his salary on 36' @68l 949, @m‘o @aclic :iO% GE]\Q@QI @
rent and 20% on food. If he has 20% GIQIEQ Qe @3l @ CIFQ
$ 2,590 lt?ft after these expenses, $ 2,500 Q@9 Y AEQ QRUCE 6069
what is his total salary? < '
' ARG @Il ERER?
(A) 54,500 (A) $4 500 '
(B) $ 5,000 (B) $ 5 000
Q). & 3,500 (C) $ 3,500
(P). 55,000 (D) $ 3,000
37. In a sequence of numbers, each |- o
number is the sum of the previous 37. AHIYLR KA QER, gecia destl
. two b ] . < - P ] o
Himboss. St 2 3 e S 9959 AA31 9@ gair gad Qw2
6th number in the sequence? NG 3 99 6969 QFI6Q 29! 6th Q°¢>ﬂ|€' :
E@Ee?
(A) 21
(A) 21
(B) 18 |
(B) 18
(C) 13
(C) 13
(D) 12 :
(D) 12
/151-B R




ng.(A water tank has two inlet pipes

and one outlet pipe. The inlet pipes
can fill the tank in 4 hoyrsg and 6
hours, respectively. The outlet pipe
can empty the tank in 8 hours, If
all three pipes are opeﬂed
simultaneously, how long will it
take to fill the tank?

(A) 3 hours
(B) 4 hours
(C) 5 hours

(D) 6 hours

39. A sum ofX 10,000 is divided into two
parts such that one part is invested
at 8% per annum and the other at
6% per annum. If the annual
interest. earned from both
investments is ¥ 700, what is the
amount invested at 8%?

38. 64T QIGicIFER 9AG QS (inlet)]

39.

(A) 4,000 oFl 8% Q LAAEQ RGN ?
(B) ¥3,000 (A) 4,000
| (B) ¥3,000
(C) Z5,000
| (C) 5,000
(D) 26,000
(D) 6,000
250%
40, ' =7 250%
=7
5% 40. 5=
(A) 50% (A) 50% .
(B) 500% (B) 500%
(C) 5000% (C) 5000%
(D) 5%
[ D) 5%

IR @ 601N SIRGEME (outlet) DI
UGS aRens dIRd IR Kalges]
4 Q4l 49° 6 Q4I6@ CIET AQ 29I
IRGEMS (outlet) AINd 8 WS
QIGTQ ¢IR KG9 0T G6IT KIP dIRd
URI6Q6R 6FIMGEIYIY 6069 66V
AFAEQ CIRG R 6297

(A) 3 Q4
(B) 4 Qg
(C) 5 Q4

(D) 6 W<l

QL6 T 10,000 @R AIFER G 62IR
gan Qe Q¥ 8% 99° AT TR
6% QA6 RAILIRG] 9T QY AU
ARIB QIVR &I T 700 99 606Q 6R6Q

- /151.8
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41. The sum of squares of two numbers
is 146. If the square of their
difference is 36, then the product
of both the numbers is

(A) 72
(B) 160
(C) 55
(D) 16

42. A peon purchased a chair for ¥ 700,

spent ¥ 170 on its repair and ¥ 30
on the cartage. If he sold the chair
for ¥ 1,080, his gain percent is -
(A) 10

(B) 20

(C) 30

(D) 5429

43. Find the next number in the

sequence
17, 17, 51, 255, 1785
(A) 16065
(B) 19635
(C) 15965
(D) 14955

44.

3
A can do — of a work in 12 days.

4

He can complete % th of the work
in

(A) 3 days

(B) 4 days

(C) 72 days

(D) 2 days

45. Sonia can copy 50 pages in 10
hours. Priya.and Sonia can copy 300
pages in 40 hours. Priya can copy
30 pages-in

(A) 10 hours

(B) 11 hours

(C) 12 hours

(D) 13 hours
[

. 45.

41. Qa5 QW QTR qq@( 6208 %
A8 62AIRFA EAGIQ TR 36 g4
Q626eR ARG AWK AU 629 |
(A) 72
(B) 160
(C) 55
(D) 16

42. 6oIGq Gae 691669 2700 Raal,|

ARIFT RIN6R T 170 SIS IR G QIR
(cartage) 91 T30 §9 @RIl AT 64
601a5q 1,080 60 GRAEQ, G MW
219 69627

(A) 10

(B) 20

(C) 30

(D) 5429

43. QFQ JRa! Al FIFNQ [l
17, 17, 51, 255, 1785
(A) 16065 '
(B) 19635
' (C) 15965
(D) 14955

. 3 _ 1
44. 4120968 7 Q1A 939I6A1 62 AIAG|

3 A QU FAQ AR 6Q68 @R RIFR?
(A) 3 Gaea

(B) 4 Ga6a
(C) 72 Qe
(D) 2 GR6Q

6Q%2 50 QI 10 ALIER 9T *GQI6a!
dol 8 6QRAI 40 QIeq 300 QqI /F

Q0 Q931 Jal 30 gIg 6R6e AANER
@d @Q alge?
(A) 10 Q€I6Q

(B) 11 Q€16Q
(C) 12 Q&I6Q
(D) 13 Q€I6Q

/151-B
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46. The probability of getting a bad egg

in a lot of 400 egegs is 0:035. The
number of bad €ggs in the lot is

\ (A) 7
(B) 14
(C) 21
(D) 28
47. Arrange in order, from least to
greatest :
8 3,19
5° 27 11
8 3 19
) ~5<-3<-13
19 3 8
B — N—— —_——
B).=11573<3
19 8 3
G =t o
€ —17<-5< 2
D) -2<-2<-2
2 11 S

48. A chemist has one solution which
is 50% acid and a second which is
25% acid. How much of each should
be mixed to make 10 litres of a 40%
acid solution? . g

25%

(B) 3 litres of 50% and 7 litres of
25%

(C) 6 litres of 50% and 4 litres of
25%

(D) 7 litres of 50% and 3 litres of
25%

49. If the number K35624 is divisible
by 11, then what is the value of K?

(A) 4 litres of 50% and 6 litres of

46,

47.

48.

49,

400 24!l @4q ACEx dala aal

QIR ARISRI 6208 0:035] RS 6Q
SRID 2GR Al 2R

(A) 7

(B) 14

(C) 21

(D) 28

6819Q Q¢ R6¢ AR emd |

8 3 _19

5° 27 11

, 8 3 19
A —5<=—3<T1
.19 3 8
—— .__<__.
B) 117275
(C) '_E<_§<_§
‘ 11; 5500 2
(D) _§<_E<_§
2 11 5

6QIT QIAVFTRQ 66T ARIAR 21T
6990 50% 93@ 8 QE19T 690 25%
3@ 28] 960YRY 6960 Figd Qaem
40% 9@ ARPIARR 10 feQ B2UG coia
AIRQ?

(A) 50% Q 4 AGQ B 25% @ 6 AGQ

(B) 50% Q 3 @EQ B 25% Q 7 AgQ

(C) 50% Q 6 ATQ B 25% Q 4 AFQ

(D) 50% @ 7 A9Q 8 25% @ 3 AgQ

Q@ A9l K35624, 11 QIAI GRS
SRARNYIER, CINNETER K Q Y 69667

/151.8

(A) 2 (A) 2

_ (B) 5 (B) 5

(C) 7 (C) 7

| D)6 (D) 6
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— . : QSIS 6
Direction (Q. Nos. 50-52) : Study the bar Q6aal (gq Qs 50-52): 9 Pl
chart and answer the questions based g49eea 2aa gaie @l
on it adaial 62y @g1eq (1000 &§)
Production of crops (in 1000 tonnes) over |
the years. 2 904 3
5 s8od o L~ 2
w S 704 o ©
Q. 90 ‘__ o © 4 D > /
5 804 0 % § 607 Z 2 3 2
S 70 = 0 ZH g 507 e U ] %
§ 6o 2 2 - - g 404 - B ’ ’ &
B s0d a"’/aﬁ/ 5330'35? -
5 o1 S A& A A 20 f/ Z
g 407 “RZRZRZRZR% iNZRsRoRZRZ
£ 30] 1 ZZRZRZRZ0Z e IZRZAZRZRZ ’
20 ZRZRZAZRZZ "2 g5 2 g <9 =
Nt ZZAZhZ SRE&EEFER
0 8 8 &5 @ o o -~ o : Years —>
SRS88¢% 83 i
Years —> 50. 2007 Q2008 ﬂ@QIGQAGQSG‘ geae aQy
‘ : Qe 2 [ AINR?.
S0. What was the percentage decline o
in the production of crops from the (A)- 34%
year 2007 to 2008? ) (B) 25%
(A) 34% (C) 21%
(8) 25% (D) 40%
(C) 21%
(D) 40% S1. 2006 99° 2007 ALICA TIQILAD gy
S51. The average production of the crops Qqleq Qgﬁﬁ@‘eﬁ?@ 99 QYA LR
in the year 2006 and 2007 was QUG QLS AAIR QIel Q&9
exactly equal to the average
production of which of the following (A) 2010 9Q° 2011
pals of years? (B) 2009 99 2010
(A) 2010 and 2011
(B) 2009 and 2010 (C) 2008 9e° 2010
(C) 2008 and 2010 (D) 2005 \4&° 2011
(D) 2005 and 2011
52. What was the percentage increase 52. 2905 4R QRRica 2012 AQIcq 6069
in the production of crops in 2012 4o a1y 1209 | (nala) QA ‘%Q QIRE?
compared to that in 20057
(A) 180
(A) 180 o
(B) 200 (B) 200
(C) 220 (C) 220
(D) 250 (D) 250
/151-B

18

____-—_;




pirection (Q Nos. 53-54) : I the light of

«a sufficiency, choose the .
S;tion from the following . appropriate
53. Mr. X ranks eighteenth fr

in a class. What is hig
the last?

om the top
rank from

Statements :

(1)

There are 47 students in the
class.

@ Mr. Y who ranks 10th in thé‘

same class, ranks 38th from
the last. .

(A) Stgtement (i) alone is sufficient
while Statement (i) alone is not
sufficient

Statement (i) alone is sufficient
while Statement (i) alone is not
sufficient gt '

Either Statement (i)
Statement (ii) is sufficient

(B)

(C) or

Neither Statement (i) nor
Statement (i) is ‘sufﬁcient

(D)

54.
on which date?

Statements :

() The first Sunday. of that month
fell on Sth.

The last day of that month was
Friday. Fide :

i)

Statement (i) alone is sufﬁcient
while Statement (it) alone is not
sufficient

(4)

(B)

The last Sunday of July, 2018 fell -

[ ——

Sedaql (gq QeI 53 — 54) : 82 ARIAEA
A0R AaQ geIe @l

53. §igq X oIF 65416@ gaif 2ig 18 Qw69
2QGG| 688 2Ig GIFQ QUi 6RE6C 6247

12y ¢
6g4116Q 47 @4 2Ig VI

daq Y 64 64@ 6¢41a 10th
QUIEER 9Q° 649 2lig 38th QY&

aaQy ()T A0 g A8 (i) 6L
(B) a8y (i) & A0 &g A2 (i) Q69
(C) F18Y (i) @l A8y (i) A0R

(D) F8Y () @Al A8 (i) A0 F6E

2018 adgl gRIA FIFQ 64N Q[
6@60 QIR 6QIRAMI?

54.

a8y :
(i)  69% €A gAN ARAR AR 5 SIAG |
(i) 692 FIAQ CAVTR YFRIQ AMII

(A) a8 () S Q62q @] A9y (i) s

/151.B

Statement (i) alone is suff_icienz

‘while Statement (i) alone 1s no _ : 3
C) Either. Statement (i) ©OF o ,
(C) S'zatefnent (ii) is sufficient (C) a8y () dal aagy (i) Q621

i) nor .

(D) Neither Statement (i) . .

) Statement (ii) is sufficient (D) Q=Y (1) [a ASRY (i) Q6eIg 96d

/ .
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55. In the following Bar diagram, the
proportion of expenditure spent on
the several things by two persons
X and Y are shown :

(A)

% 20,000 per month _

10%
50% Food & Clothing|
Food &
Clothing
60%
Miscellaneous
30%
Miscellaneous
20% 30%
Education Education
Person ‘X’ Person Y’
Total expenditure : Total expenditure :

% 1,00,000 per month

From the above Bar diagram, which

of the following statements is
correct?

Person X spent more money on

food and clothing than person
Y. |

Person X spent less money on

food and clothing than person
Y.

Person X and person Y spent
the same amount on food and
clothing,.

(D) The amount of expenditure on

food and clothing by person X

and person Y cannot be
compared.

—
§5. afmde

90 Ql{@ﬁ? o

‘Bar diagram’ 69 x{«,@
o 4oq 2gdIe QEIKIaR|

//‘.
/ i

- 10% _
Food & Clothing
50%
Food &
Clothing
60%
Miscellaneous
30%
Miscellaneous
0 30%
Edigafc)ion Education
g X e Y
QAQ9ID 6 QAgRID ¢
¥ 20,000 Qud@

% 1,00,000 QIQQ

QUEQ Q4IRS ‘Bar diagram’
2RUIRER 69 FIBYT A0R 12 RS

(A) X 4 9194 6 calsIeca Y. 4g)|
AT YR OF 49 @Ggd

(B) X 4G Sy 6 saimieeq Y Q4§

U6AA| R ORI Qug *AE

(O X ey qug Q99 Qe o

YN 8 caimIqeg M *Qed

/151-B
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W (Q Nos. 56 & 57)

following pie chart and g
questions:

+ Study the
nswer the

The monthly expenditure (in
o family is represented by th
chart. Let the total monthly
the family be 333,650, then

percent) of
e given pie

Savings

Food and

12% clothing

dical
Mecie . 25%
0

23% 18%
Child

; House
Education

9% Rent .

Entertainment
and others

56. The amount of annual savings

income of

would be
(A) 48,310
(A) 348,310 (B)‘?48,45.6
(B) 48,456 iC) 51393
(C) ¥51,393 i©) S50.084
(D) ¥50,284
‘ ¢ and | O7 9999199 8 AIdQ 9Re ow Qeaid
ren ¢ ,\

o7 gg?:cggz;ni?inzigﬁ;l S:avingS, the CLMIYEQ AR AR QYIS 2k
total monthly income of the family Q66 ? .
remains

(A) ¥23,545
(A) 23,545

(B) ¥23,555
(B) ¥23,555 .
(C) 29,471 (C) 29,471

29,

D) ¥

D) 28,350 (D) 28,350
P 21

B6qaR (gq Q°cYI 56 & 57) : AR 91 (pie

chart) @ 29RAe QA 999499 @aa galg
@Ql

60T adcIa AIde ¢ (2AAIAIR) AR oiF
(pie chart) 6@ @€IQIRE| ABQIQQ AR 2lig
AS6AIS T 33,650 g4 69627

Savings

Food and
12% clothing

Medical 5%,

13%
23% 18%
Child House
Education 9% Rent
Entertainment
and others

56. Qi@ Gg6 OFI 69667

/151-B
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qQuestions bag
which shows
and

ed on the following table
the results of half yearly
A B annual examinations of four sections

» B, C, D of Class-V students in a school.

Result No. of Students

Section Section Section Section

Student A B C D

failed in
both Exams 28 23

17 27

Students failed
in half-yearly
but passed in
Annual Exams 14

12 .13

Students passed
in half-yearly
but failed in
Annual Exams 6

17 15

Students passed

in both Exams 64 55 46 76

58. Which section has the maximum
success rate in annual
examination?

(A) Section A
(B) Section B
(C) Section C
(D) Section D

59. How many students are there in

Class-V of the school?
(A) 386
(B) 219
(C) 399

(D) 430

| Direction (0. Noc
irection (Q. Nos. 58 & 59) : Answer the |

|

FgIEe a18IER

9141996Q QI
Qfe aIgIea

G6a Q°sil 58 & 59) . A
agasaal (99 59) : 5
66gMED adlgIRas! 69168 g §
LRY 5QudINIREa 4, B, C,

Qg6gé1a glgide 6 A&7 aRnqIg
Gaqdl gRIGER dax Q@a dag|

Qg

JoITR SUIEAIRG Qe

QUega! QU Qdcg4n

ehol

TRTR D |
a0g 991818
sarq, 621RES!

Geuiel 28

17

sam Gg Q1de
germlea aId

QGeQl GQudl 14 12

13|

eTm 17 15

Qe AAANER
aId 2894

QU 64 55 46 T

58. cadl ag-cga1q adiue aaeel 9
JQIQIERQ 6LIRT?
() QU6geT A
(B) Qa6ge1 B
(C) Qaegel C
(D) QQ6gaN D

3QuRge V- cgaica aauds d
60609 |
(A) 386
(B) 219
(C) 399

o

59.

(D) 430

/151-B
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Direction (Q. Nos, 60-69) : Read the
following Passage and answer the
questions that follow. Your answers to
these questions should pe based on the
passage only :

Everyone is fascinated by identical twins :
they look the same - evep advanced
digital imaging systems sometimes fai]
to tell them apart — ang yet they have
different personalities and abilities.
Literature and detective stories depend
upon them for providing a plot twist or a
mystery. In reality, too, there have been
Numerous cases of one twin
impersonating the other for a joke, to
eéscape punishment or to advance a
romantic interest. They may have the
same eyes, the same hair colour, the
same smile, but one will be shy and the
other more outgoing, or one cleverer or
funnier or kinder than the other and this
despite their having the same DNA. They
do not, however, have the same
fingerprints, which are believed to be
determined by environmental factors,
twins like spending time with each other
- often to the exclusion of others. In fifty
percent of cases, they even develop their
own secret language, furthermore, it*is
commonly believed that they have the
ability to communicate telepathically so
that, for instance, one is able to draw a

There have been innumerable claims that
a twin has shared the physical or mept:ell
pain of the other — known as ‘crisis
telepathy’ even when they could not haYe
known it was happening. Monozyggtm
twins — who share everything before birth
usually share everything after birth too :
. |the same tastes in food, music, sport or
' |politics... One might think that this could
' |be explained by the fact that parents often
|give their new-born twins confusingly
' |similar names, continue to dress them

{' teens, and generally treat' them in 'the
|same way throughout their upbrmgmgci
|However, there are well-documente

picture of what the other is thinking.

exactly alike until they are well into their

Fedar! (g4 Qo 60-69) : Gq 2QERFET

e 9Q° 06w QI gq9 aae Ful 21969
999699 260 609 ALERTF AIA @8
6891 252!

9604e 4G AAQQ QiR 694 AIads gUa |
6Q7I6Q 6QYRAAIR AR, IUGE 6T
Q9060 REQIAIA Aee FRIIN_ULRAE
NAFIYHR 6ERERER QTR 62IRAB| YUIS
847G QO6Q GRAA QUEQ 6 AINEY aagWId
6291 QIRITR] 6Q7ITw QUER ADI6Te ARG
8 60IaRI OIg, R2IAYA 671IP ARARR @Rl IR
QeQy 2@ aGiegas @ded| QIgeeq, IRl
1l 99 69 AT ANGEQ ACKR ACEI A
QI8 6QSIIAIN, 69Qe6a ARIQU IR A
dGl, @9q 9 AU 6194 @gel 4
QIIRRIACR 69ITIFG 6291 AGYIF| 6IAIIFQ
AR 21, AFIL 6@4 A, AR 2 @ 66l
QTR ARUITR CIRIECIER Y AITIRIT 2R
cdiRl Q1 g8, 0Qa, 6w1g@dl G QUINIER
Q50 621RaNI 9AG A6] 6QAFITFR &.98.9
(DNA) Q9IQ] QIRIEZ6R & 6QAI9wa TUoF
QAR 6% IS° 9Q2l 986ed AABIY QI
6alg FEIAE6RIN §419 @QAIRAICA |
QIIRNNIEE A99Q AT AAL ATATE
QAW §q 990 @RI Bg ANAIRFOI
090 QEQIdial A1) g9 1B 960G 50 gode
QOGIEQ 6QGINIAR, TR 697168 FaFea
IV R AL *QAIRE| Yae, 9L
ARIQEIRVE] FQIACLIGY 69 AR Q
AIN12NEQIY SRR (telepathically) QIR
Qe 62IRAIER Q2I-R64l LILIR DBl RQARIR
@2 ARIGEE OQATT FAAICA| WA} QAIS
QEE 64 QIUIRIFIER TR NG 6 qlIede
4gell 4999 AUER 99 @AAINE Y8 eIq
€omdle_Q°RG” (crisis telepathy) 691Q
AN IFlo 6IAIER 12 69666967 AFREAIR
RISIFIAE @12l ACRINIACATS (Monozygotic)
GlAIR 6QQAISe A9RR @gqeq 6 fgacq
14 JA9Q WOEQ R @R2IZ | IUET HIQYeq
N@l 9l qIe, Aae, 689, Qeeesq al
IRI9E e 29eQ Qf2IR] ece g
‘14 981 @Q21I8 6 IR 6R16T 98 021 QIIFER
QEIAINAIRRN Q2I-QIAINZIIEE AQIeER
SAFIFG QRIS QIR Qi) QLIARVNER QAR
1296 Q2B CARRR QAINERISE CaaIse
@Sl 8291 Adis Qe caigie desalal
IRIDSISS QIINANSE o caq adye 6QRIRG
IRI9% AURRARE AQILIRe| gBE aagat

/151-B
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cases of identical twins brought up
separately from birth who nonetheless
made the same decisions and life
choices. In the 1980s, there was the
much-publicised case of the identical
twins ‘Jim’ brothers. Born in Ohio, USA
in 1939, Jim Springer and Jim Lewis
were put up for adoption as babies and
raised by different couples, who happened
to give them the same first name. When
Jim Springer reconnected with hig
brother at age 39 in 1979, a string of other

similarities and coincidences was
discovered. Both m

and weighed 180 poungds, Growing up,
they’d both had dogs

Named Toy and taken
family vacations on the same beach in

James Alan an
served as pa
home carpen
from severe

d James Allan, They’d both
rt-time sheriffs, enjoyed
try projects, and suffered
headaches. In August every
year, thousands of twing descend on g
town in Ohio called Twinsburg, named
by identical twin brothers nearly two
centuries ago. The Twins Days festival is
a three-day event consisting of talent
shows and look-alike contests that has
become one of the world’s largest
gatherings of twins, There have also been
other festivals in the UAE, Australia,
France and Nigeria. The latter country
has a large Proportion of twins in its
Population : one in 22 births to the Yoruba

people in Nigerig produce twins, identical
or fraternal, which is a much higher
incidence than anywhere else in the
has been attributed to the
eating of yams, but the theory is disputed.
Biomedical researchers descend on these
events, re

garding them gag a precious
opportunity tq conduct surveys and
€xXperiments, Scientistg study twins in
order to coll i

: Q16a 990 62IR2Q]
gmmmmgl qgggga@s%mﬁl GQ(E%GQ saslglqgg
Sy gﬁ?ﬂl %z AREAIRA a@mmaﬁ i
ggggga B8 6991 6 F19R63R! ﬂﬁ;ﬁ e
ge18ic 62Iag| 1980 §6R% q%%%m oo
Qe€l ANQUT QIR 87| (Jim) QY

—~
w

6Z8 (Ohio)
Q6¢ 9913 2Ieaaa (UgA)GgI S0 4era 6
016Q 1939 6Q G{YwEl G?Qel”g@@ -yt
o Red Sae ofoe Qlal gd¢ i
6QFER G QUEA RIF LRI eg%% e
@0 39 QIF QIR 39 FEQ QI 1979 A1
2;1%? RAUAINAM 6AEREAER eqm%_{%%ﬁ
AR 219YS 62IRUNI | YK 6 FC ok
NG gia 180 QIQg BAR dER| APl & )
621189 G4 (Toy) QIFIR 4R Q9 6QIBEs
Ng° QIR g9 A6 QIR (Florida)
SARIRFca QR Qlegem| Y@ ARG
6Q€6% AGIE (Linda) QQIT @AM 8 BIGAQ
4 62N QAT TO1A Q] 6N 6Q6F
(Betty)| 6271168 6T YA Q| yla[e
AINR (James Alan) @ 66??1% AN (James
Allan) Q¥g6R| 6Q¢6R AR SN AR
NQ° g2 Q10 V1Y gegea QUAIRAEA 9Q°

998 J93I5Q IQie SLIRYEA YeRuR QF
AIY FIA6Q IR 29I

% dIZIRI 86 (Ohio)
49969 1456 6gal Twinsburg’ geigiq g
N Qa1 QlRlinl Qg dISIAIY gRaee 99Q
AI6Q IFS @AUSR “The Twins days’ ‘QIiq
QWA SHTF2] SRR Feamgs [
SQUIQIRI gPsaIG

s vl 62RRI| qol g 399
99920 QIR Qcqne Qs 9Odq| adegn)|

(Austrglia), 1 (France), 2R
FIRERAAI (Nigeria) qoe SQE6Q g
1Y Q1SS 941 Q9 68631 cogeq A0
A Q19 @ cadles caie qwag AR

i
229 1 99 62984 | masaﬁmaa@‘alga
(Yoruba) 0169 &RIcq Qi
QUILAY A6 2cay| Q2916q 2y
SedlQIG] 92l gaiaiedisa S §Qanzg (Yam,
HRAGIA IS AGR F9 @ ogd

o RS €9 AS
621881 Qlsacadeiq. (biome%icjf
SI6Q8QIER IAE6R A6STE 6 qq )

. < — L@|§Q‘]®l
QAQ 9@ QAS QeI TRidq
QIRANE ANF6R gl TILQSe Qo
(the age-old nature) QRI¢ RS Q[ﬁ\@ S~ o
(nurture debate) G2 CQRee QQWQSQ
6A0IRSQ RITIARIA AT qge

ATAIGEQ ARERE QLR QIAE Gﬂl_‘r}l €@@§|
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W are peopm
. ] an

fertilized egg that splits
virtually the same g
differences between t
to environmental fac
differences between

pinpoint the influence of environment
and comparing identical twins witt;
fraterpal ones to measure the role of
inheritance, has been crucial for
understanding the interplay of nature
and nurture in determining our

personalities, behaviour and vulnerability
to disease.

€netic code, any
hem must be due
t_ors. Studying the
ldentical twins to

60. Which country has a
proportion of twin population?
(A) Nigeria
(B) USA
(C) France
(D) UAE

large

61. What is the reason of the high rate
of twins produced by the Yoruba
people? : L

(A) Culture
(B) Marital status
(C) Eating habits
(D) Dance and music
62. Biomedical scientists conduct

experiments in these events to
collect which evidence?

(A) Law and legal issues

(B) Nature vs nurture debate
(C) Climate change

(D) LGBTQ+ rights

63. Identical Twins who look the same
are different in which aspect?

(A) Clothes

(B) Personalities
(C) Imaging systems
(D) Complexion '

690 GRIRFIca JRE6a 694 @IQd QI ARG
691g 9 69@8d| 61219 €6QaR 116w
odiagd| alad AAqa! QIR 99° FERIATY
(fertilized) 2aIQ @G <@al 24I15 QRICER
309 62Ia 6QFIeR IR 6R6RTR (genetic)
Peas Tanne QaIBl IAIeE F6a IdR

QG69d Anag Qg 64Ig 621Ra 631N
SHI06 eal Qa8 AAga! AILIRIE AANER
P00 GRICRER @°6IqefesIa aial
qdlagiale aaqal aiRiew Age Aagle!
QAFIE GRFI, 990 99° AIRFAIRG BREQ 1S,
QIFIRRIa ¥9° 6QIS 621 @IReIQ RIQSIFLR
A 9ael 9e geeqd gaer!
60. 689 696Q EAIRAHIIER AIARIAIRET
QUG 2ANR?
(A) FIRExQA
(B) 2994
(©) Q19
(D) 29 R ,
61. 699 RIQEQ QS| UERQ ERIKAIER
QHIYS Q2R 99 QB ? '
(A) °YE
(B) 6QQ1@@ g%
(C) Sllay 2L
(D) Q84 G Q°Qe |
62. QICAUCHTAN FCIIRFIEH IR ALREQ
aBGIA @D QI2NAIQ gAIS Adge
RRER ?
(A) 2IRe 6 AINRS AAQY|
(B) 996 QRI¢ QRIS So4
(C) Q19 ateas
(D) QARG 2ARIQ .
63. 32?:; :ggg §§§ CRYQITIR AR
qae?
(A) sQlIQag
(B) Qi@Q
(C) 2gead Quag
(D) 6Q2Q Qer
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64.

6S.

66.

67.

68.

69.

How is the difference between the
two identical twins helpful to
authors?

(A) Provide a story

(B) Provide a character
(C) Provide a plot twist
(D) Provide romance

Which difference in two identical

twins is determined by external
factors?

(A) Hair colour
(B) Fingerprints
(C) Smile
(D) Eyes

What percent of identical twins
develop their own secret language?
(A) Can't say '
(B) 30 percent

(C) 50 percent

(D) All of the above

When one twin is able to share the
physical or mental pain without

even being communicated, it is
known as

(A) intuition

(B) crisis telepathy
(C) vibration

(D) teleportation

What do we call the twins, who
share everything before birth?

(A) Monozygotic '

(B) Fraternal

(C) Dizygotic

(D) Monoamniotic
Which festival hag

the world’s lar
twins?

(A) Ohio

(B) Twins :
(C) The Twin Daysg
(D) Twinsburg

become one of
gest gathering of

/151-B

64.

65.

66. '

67.

68.

69.

206 anqgdl aieiel 9Ew AU6R gq).
Qlgiay 6ASRAIRE QIRIYY REQA?
(A) ©Ig 6RYS!

(B) 0Qg0g¢8 @4l

(C) QEISga 671G AARIRS!

(D) 6QIIQ IQIQ *Q<I .
afqar aiEipl giw auea Sl 6ad
Qlday QI7Y QIQgemIg 62IRNIN?

(A) 6R6Qa

(B) 9aog

(C) 289

(D) aIg

6R60 gede anqal QR FeReq
J9eIgl ML AT ?

(A) KOG |

(B) 30%

(C) 50% ,
(D) QU6 AAY

6UEGERER FFI 6UIFICUIFER Q64
QiEial 3ea §1Q18e 6 AIede agdl
J999 Q960 ARGRIG @Rl QIS A,
QY '8 QRIAN?

() 2398

(B) 69@QIe ARe

(©) afte

(D) 65R6AINETAR

6U9 QIR 9ggdq ag gede aal
Qg V8 QRIANG?

(A) Q6RQITERIT]

(B) QI aaMg

(C) QIRFINEaITQ

(D) AeQIAI0R63]

69 Q2ed QieiRiies acane a9
Q969 Qe Qe ?

(A) GRG

(B) 9@ad

(C) @ ¢RRY ce]

(D) ¥RRQeQq
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pirection (Q. Nos,.

70-75) .
following passage to answe? Ll;el:?;:tit;;e
Ecosystems provide
of goods and servic
clean air, flood con
pollination, climat
fulfilment and ae

people with a variety

trol, soil stabilization,
€ regulation, spiritual

sthetic enjoyment: t
. ! 0
name just a few. Most of these benefits

are either irreplaceable or the technology

necessary to replace them is prohibitively
expensive. For

The rapidly expanding human pbpulation
has greatly modified the earth’s
ecosystem to meet their increased
requirements of some of the goods and
services, particularly food, freshwater,
timber, fibre, and fuel.
‘lmodifications have contributed
substantially to human well-being and
economic development. The benefits have
not been equally distributed. Some people
have actually been harmed by these
changes. Moreover, short-term increases
‘lin some ecosystems’ goods and services
have come at the cost of long-term
degradation of others. For example, efforts
to increase the production of food and fibre

ecosystems to provide clean Awat_er,
regulate flooding and support biodiversity.

70. According to the passage, which of
the following can be taken as the
main reason for the modification of

earth’s system?

(A) Technology

(B) Increasing population

proach

(C) Lack of an integrated ap

(D) All of the above

es, food, clean water, -

exXample, potable
freshwater can be provided by
desalinating sea water, but only at great
cost.

These
Qaa qIgy 6 2deate gad 6ageq 1w

have decreased the ability of some "

F6TaI91 (ggq Q°Hyl 70-75) : FARYE AR
ANOR IR ggaeaageeaag!
6@QFI9R (Ecosystems) 6MIQCIAE il Qua
JRIQ @9y 6 €4S, ¢y, IYR @, 48 I
dIQY Faqe, 9a9I §oel, aId A, IR
Gadeaad, e a99qgel 9Q°
cdlodicaie Iee AdeRIa AGYd 6aIdIR
6@REN| IZRIQ RAICTAS! FRIQ LR 4T
6R60I5Q YoRIFIgl 1aag TRYL AJadc
221 NgHR AIRG! Ie NG AISA 6TERIENIT
GRRIQI AFIZRE 9O AYE TR F6TRIGRT
dIfID 6R 6QIGIRGER, AIg 97l @ERAIgIER
aIead | 3

g0 9A°dil QF 97¢ QA% IS
Q2 Q|4 6 631, FEHTRQ IR, 4= F@, SO,
FIRe9, 9I6RE @08 9ed A gYRI
6Ba0Iae F6ATRNER ARG 62IT| F189

aReara 2Igedal 299n QB8 T gTagee
AAIQUIEe AN S48 RN X1 9T
adeas QIal gqEsa 69609 MR I09g
c2INEE! 2RIFG ARIAIGTQ Q1d F21E 2eaa
AN TRCNER 6REOR 6FTARR Jg-aaIT
Q94 G 64QI QU 6LIRB] QAAULRE I9d
SN G TIPNIQ 98 AR YA 6R6GR 659635
QYT OR 691914, I FATCRQAE!, RIS
QYR IVRIQ AR €QRAT

70. AQERT UQQAIEA F6TIQ 6RATY A

F9R IR9ANA I KR ANER IR
QAR AR ?

(A) 696QIEMT
(B) 98Y *aQ°ay)
(C) Q% QecRaq TaIe

(D) @aeqig ang
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71.

72.

73.

pstB

Which of the following can bt;:
considered as the most suita
title for the passage?

(A) Modification of our ecosystem
(B) Our natural resources

(C) Harmful effect of increase in
human population

(D) Human interference in our
ecosystem

Expanding human population has an
adverse effect on

(i) spiritual fulfilment

(i)

availability  of :

potable
freshwater

(iii)
()

Which of the statements given

employment

biodiversity

above are correct?
(&) (), (i), (iE)) only .
(B) (), (i), (iv) only
(C) (ii) and (iv) only
(D) All of the above

The passage mentions that ‘some
people have actually been harmed

by these changes’ "It indicates
towards

- (A) i_nequitable ,dis'tribution of

benefits

(C) Both (A) ang (B)

(D) Neither (A) nor (B)

71.

72.

73.

2959 32y

G691 6a4C UYEFITA t

62IQAIGe? <

(A) 2IFl 65Q F99x AAQee
(B) 2] ISR AWIQ

(C) a2°dYl QBQ VATA gaIQ

(D) 2i¢l 669 F19REQ FIeQQ 2Qeng

QU6EQ IFY FFA°HIQ Jaa1
geIe 6eYelg F6R!

() RIGR adgéiel
(i) IYR ARG FRY ARSI
(i) @6 Fegiee

(iv) 689 JFuGI

Q9D AYS 699 FeigPe ox?

(A) ), (i), (iii) QR

(B) (i, i), (iv) coqq
(C) (i) 9e° fiv) saqo
(D) @esalg qeg

BP0R69 9I010E 6g <3 aRQee el
99¢6a 6600 i A9y 62Iass
991 9016 Q6q 6g

(A) geeqg@ea agq egq

(B) 67697 shasnga e o calgié,
Sy Fade @4, ¢Fe FFu6
LR geg ol

(©) @99 (4) e (g

(D) (4) @1 (B) sqlaga Q6s
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i 74- Wthh of t

75.

76.

h :
the conte € following is correct in
Xt of the Passage?

(A) The .
a
affected some pespleadversely

(B) SUfﬁcient effo

fnade I rt§ have not been
. Increase th
Production of food and fibre )

C
(C) In short term, some people may

b
e harmed, but in long term,

f;re;yc.)ne‘will benefit from
odificationsg in earth’s
€cosystem

(D) None of thelabove

With reference to the passage,.

consider the following statements :

(i) 1t is imperative to modify the

earth’s ecosystem for the well-
being of mankind.

(ii) Technology can never replace
all the goods and services
provided by ecosystems.

Which of the statements given
above is/are correct?

(A) Only (1)

(B) Only (ii)

(C) Both (i) and (i)
(D) Neither (i) nor (i)

If all Ps are Qs and some Qs are
Rs, which of the following must be

true?

(A) All Ps are Rs
(B) Some Ps are Rs
(C) No Ps are Rs

(D) None of the above

74.

75.

76.

(A) 6999 (i)

21069a Q4RI ZIgAIG] 76718 69T OR?

(A) 89 99Q°dl QF 6@6CR CMIDT,
30910 QU gAFe Q8

doY 68 TR Q9T 8 AR
Q62 QT KAUAIRRIE

(B)

Qe 6FQFIaP JPRRER 6RECR
sRIe 9 F2IR6q 80gY 62104193,
qig @19 Fudeq gesiag 4Iw|
aae

(C)

(D) &g 67193% 6%

2IgERa 2gAI6R FEAIQ FBIGLR AR
@ag) |

() AIeeeEa aR ala gaASIR 6§e
Age adeee 2adeIdyl

(i) 68Q 74R QA e QAR
Q94 8 6Q9IQ IR 656RIERIT Q&
QaaIge IEl

P6CIQ 68Q 7894 /F2Igee OR?

(B) 6QQ% (i)

(C) Q@ (i) 9&° (ii)

(D) () @R (i) 6RETT Q6L
Qe Smg Ps 62Q8 Qs 99° Qeg Os
62@8 Rs, 6069 Q679 6R60 OR?
(A) Qg Ps 6298 Rs -

(B) 6Q60R Ps 6208 1§s

(C) 6=18Q Ps, Rs Q6%

(D) &g 6NTT ged

| T g
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77. How many pairs of letters are there % B = A
in the word “CASTRAPHONE” which 77. CAS’I‘RAPHOANE 1860 G@GGJQ Nee
have as many lc?tters between them QoR 2/ aAL, AIRICIIERA QRIENRIEQ
in the word as in the alphabet? 60159 218 (B J0A6Q @ 626RT 8949|
(A) 3 AR ?

(B) 4 (A) 3

- (C) 5 (B) 4

(D) 6 (C) 5

; D) 6
78. In which year was Facebook o
launched? A S
. 6@Q Q¥ 6 . (Faceb
(A) 1972 A9@ (Facebook) i
eI mI?
(B) 1980 ‘
(A) 1972

(C) 1999 (B) 1980

(D) 2004 (C) 1999

79. What is the meaning of the word D)5 2008

' ‘Jargon’ .

: 79. Jargon’ 48Q & @67

(A) A specialized language of a . =
particular group of people (A) 4@ QGY @RETIgIQ 6aE Qo

(B) Techniques of good writing ‘ el N y

(C) A special article written by an ) @%1@61 SalaR
editor (C) .Qtieaw QA AYe 9@ gog emdll

(D) None of the above (D) 2Iq 66T 6%

80. An Informal Gathering occurs when | g0, 6Q686Q6% 66115 QR AR AAKR
a group of people get together mn a . oD 908, 6ACEETER R
casual, relaxed manner. Which qgm%@ﬁﬂ 0 426, . £
situation given below is the best 816@09|Q§ Ae1EGd WEG'| @6LlIQ A
example of an Informal Gathering? ARIQ 69Q% IQ 9@ a@Q QRILQS 7
(A) Debating club meets on the first (A) 9EAIQ g QAR ARIRER BERT°| -

Sunday morning of every month Qeq <9l '

(B) After finding out about his ' & calpaal S1d 98 e
salary raise, Jay and a few (B) ?9?“ qﬁ, 4 i@ e aid
colleagues go out for a quick o) QQE\‘WG’ Q]lGl’GﬂQ Q I,,
dinner after work §1g QIE 6QIRE R, LR Qi

(C) Meena sends out 10 invitations (C) @@ @adl AR ‘QIEeNQS Qe
for a bachelorette party she is 60Q2Q| AAI 10 R8T alsiq fagd
giving for her elder sister qoIea! ‘

(D) Whenever she eats at a a .
Chinese restaurant, Roop (D) 64 SGGG:‘GQG? GI@Q@\WGQ%@IQ«GQ
seems to run into D]_bya_ ciNg, Glg QU %Gﬁéﬂ@qq aa mI6al



